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Q.

tha movement of ....... and holas

¥, Tha phasa differencé batween the An

~ currenf and voltage at resonance Is......
tv. Lenz'slawls a cansequence of the law  A. Energy
. of conservation of .......

v. Uit of decay conslant A is....... A g-!

v, The siusoldal altemating vollage can be A. V, cosal
expreased by the squaton V= ...

Wil If both the tength and radius of atod are A Increase
doubled, Then the moduhus of alasticity

vil, Mot of tha glectrons in the base ofa A, Into the base
NEN translstor low......... supply

fx. A perfact absorbor must alsobe 2. A. Radialor

. perfect ... ' -

x.  The unitof magnetc fluex is........ A Webar

. When area Alsnomal o the Elecic A, Maxinum )
field £ then electic flux1s .......

i, The charge of electran was datermined A, J.J. Thomsan
by the affect of electric fiekd on rate of fal
of ali droplets under gravity. This was
dons B, o

. Which one of the given quantities sermain. A, Heat
congtantin stap up lr,{ansformer?

Xv, Bottorn quark casries charge...... A 4 .

. - . 3

xv. 1kWh=.... A1 )

xv. A photon while passing through a A. North Pole -
magnetic field is deflected towards ....... .

Wi I insuator the conduction bandls...... A, Complelely filtsd

i, According to classical physics ......

 Palr production occurs anly when energy A. 1.02 KeV

of photon ls ot feas! equal to
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Current In semt conductor is caus'ad by A Bothelechons

8. 1.028V
8. ciecrons anly
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B, Pastially flled

A Mass ls absolule B, Time is absolute
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Hots:  Tima allowed for Sectlon - B and Section - C Is 2 Hours and 40 minutee.

Sentinn - B _' Marks: 40

Qi Attempt any TEN parts. Each part carries FOUR marks. - : : | .

1, Water has a large disleclric constant, but 1t s terely used in capacltors. Explain why? v -

2 - Define and explaln Electric Power. \/ - : T

3. ©  Differentiale between magnelic flux and magnetic flux dansity. \/ o

4, Explain the phenomenoh ofSall Induction. v/

5. Explain why it is difficult o measure the rata of change of cumant.~/

6. Differentate between paramagnetlc, diamagnetic and ferromagnetic materials.n/

7. Explain why CE configuration Is widely used in amplifier,cireuits. v

8. Explain why it is impossibla for a particle with mass to move faster than the speed of light. \/

9. Whatls meant by breaking radiation? Explaine” |

0.  Define and explain the haif life of radlo acti;.re slaments”

i1 Why rise In temperature of a conductoris accompanled by arise in the resistance?

12" Why does back e.m.fiend to decrease as the rate of doing work increases?

13.

| Nots : Attempt any THREE questions. All questions carry equal marks.

ol - (8)
(0)
Qv (8)
- (b)
Qv (a)
(b}

Ditierentiate between lonization Pofential and lonization Energys_/
' Section - C | : Marks: 27

Explaln the phenomenon of electric polarization account for the increase in capacitanca of 8 capacitor\/
when instead of air dielectric is inserted between its plates?

Calculate the current through a single loop circuitif €= 120V, R = 1000 @@ and intemal resistance r=0.01 W
State Ampere's Circullal Law. Find the expression for magnetic fiux density at radial distance *r* from a straight

wire, carrying current T, e

A colf of 100 tums is linked by a flux of 20 m Wh. If this flux is reversed Ina {ime of 2 ms, calculate the average
e.m.f, inducad in the coil

What is X - rays? Write down the properties of X~ rays../ _

Deten'nina the activity of 2 1 g sampie of Hér"’_ whose half life against - decayis 28 years. -{~”

QI Writs short notes on any two of the following.
(8) . Black Body Radiation. v~

(b}
)

Ehargy Band T\h?. v
PN Junction,



